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In the above figure, BCD is a straight line and BD // EF. Find n.
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In the above figure, ABC, DEF, GHI and BEH are straight lines. If AC // GI, find b.
	









[image: ]3.






In the above figure, AFB, CED and GFE are straight lines. If AB // CD, find u and w.
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In the above figure, ADE is a straight line and AB // DC. Find x and y.
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In the above figure, BCD is a straight line and AB // CE. Find c.
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In the above figure, OBC is a straight line and OE // BD. Find k.
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 In the above figure, BCD is a straight line and BD // EF. Find n.


	DCF	=	CFE	(alt.∠s, BD // EF)
	n	=	76°
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 In the above figure, ABC, DEF, GHI and BEH are straight lines. If AC // GI, find b.
	CBE +EHI	=	180°	(int.∠s, AC // GI)
	b + 86°	=	180°
	b	=	94°
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 In the above figure, AFB, CED and GFE are straight lines. If AB // CD, find u and w.


	FED	=	GFB	(corr.∠s, AB // CD)
	u	=	124°


	FAE	=	AEC	(alt.∠s, AB // CD)
	w	=	26°
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In the above figure, ADE is a straight line and AB // DC. Find x and y.


	DAB	=	EDC		(corr.∠s, AB // DC)	
	x	=	70°


	ABC +BCD	=	180°	(int.∠s, AB // DC)
	y + 48°	=	180°
	y	=	132°	
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In the above figure, BCD is a straight line and AB // CE. Find c.


	BCE	=	ABC	(alt.∠s, AB // CE)

	BCE	=	141°


	DCE +BCE	=	180°	(adj.∠s on st. line)
	c + 141°	=	180°
	c	=	39°
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 In the above figure, OBC is a straight line and OE // BD. Find k.


	BOE	=	CBD	(corr.∠s, OE // BD)

	BOE	=	137°




	AOF +AOB +BOE +EOF	=	360°	(∠s at a pt.)
	k + 99°+ 137°+ 55°	=	360°
	k + 291°	=	360°
	k	=	69°
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